Morcl. 28
Lectre 3%

Las‘l‘ C:lasi: Lweor B?pwy ]

——

E">'h‘m a‘l"e. .
J$.q

/————-> Pssoeste a Ffuechow To s value

‘|>ofu'“ close o 3.4 Gyt ot
feay v s eamly Computable .

a:q

L 5 hd e tawgut fiwe b Foo=vx o

a=9 .

¢ = 3+ L (x-9)|= Ly

It
s g ke locad M%‘o.‘
'FW{ 'Fh’-):fl_ att q .

—y Evaluate e Tangut _towe |, Lt , ot the
“ IOQJ" ?Ol.u"— .

J 85 = ’F(*&.q) ~ L(s.q) =3 3 —‘6-(3-%-47)

g 2 .

g 2~ 2.9



Example }» Eshimate e : ‘bad” point
f x = 0.3
( 'Fu.no‘h.o“ . 'FCZ) = e *

0 ogvod wee"” Powml close +o 0.2 for Wil

we canm ol ate e-x

A =0
Why 2 be e = |

Fad Mo tangwmt Bue ot 00 for fnyee?

Slepe : ‘?C/'x):

. 0
‘F::_:i‘—'- a=0 ,‘F(o):e = ] =S (o’\)

/7
\3 -‘F(m.—. 'F(o‘)(y__aq

Y- 1= 1 (n=0) = ‘}=7+‘I=L('x)

0.3
c 2 L(o.3) = 0.3 4] = .3



W gewsral : oy

overestipate

aP PWX

value R

L (%) = ‘F(a)-\— '?(,a)(z-a)

-x.l-(z the approx: volue ;s l“"’"r* thoue the exact vollue

5 0y
O ever eoh}na'l‘c. .
9\‘“'“"\”“3 v Swmaller houo v w " 4
* ;.F o [ ~
TS e wades estimate .

e T




HOVO +0 ;W\ PVOVC Owy’ 0.? P“O X\.M a“l‘o v ?

L wear OPPrOX > Quadrathe APPlox .

GJJ oz more Term to L—(Z)

Linem Ppprox
‘For P> ar "a”

| ) .
L ¢y = Fear 4 ‘F(a)(z-a)

—_— e i
t L}
Tangut i o fexy ot x=za
: _ / 4 -
@ua&mhc Ppprox 3 Q(x) = ‘F(ﬂ)-!- 'F(a)(z-a) " 'F(a)(x_q)z
'Fw ‘th) ot "o ,, =
T
Extra Term
added -
- 0.3

Ex 2. \mevc‘ﬂu_ a pprox w Ex 1 -FOr e

Lexy= = 41

- 0
far= e a=0 o flo=e =)

/ 0
-E:.x):e% = for=e =1

7 0
(%) ;ex = "F(O):e = |

4

4
(o)

Q("oz O 'ID‘(/O)(X_O) + T (o) <'X-O>Z

2

! a s
Qo= T+ 1ox + =% :\+~x+__w
2 2.
A

—




0.3

2.
' 2.
- 1.3y 009
2.
= .3 4 0.045
= |.3465
Cv‘m\?(we toly (2 L(’O.jj) —:—'_'_é
Exact Yolie = £°° = |« 3493658 -- .
/’1—’7"_’;{7
Ex 3. Estuate : a Cra1) ik uadrstic approx.
'F(X): _,Qw N
bad Po:n'f' : x=1.]
wee padt foa=| bje L1y =0
Tanamt "M A 1
anoyn (x) = L = '@(l): -i-=l “r W o4
Lone : %

-@(\)=.«Qmm=o = (',0)

L(x) = ‘F(m-\- '@Za)(x--o\)
,:\ fany + ‘F(ll)(vc-l)

= 0 4 | (2-1) -_-,\,)L(xv-—w_;)

Wit lnear  approx: |
n (L)) L) =10 -) =0



/
(Qxr= fear s flartx-a) 4 = (x-a)
7
-@(-z)_ —=-x-$ €ty - - L
x x>
—ﬁiL_) -?Z|):_ -L..= —'
|
Q(a): x - | + -(;Q(’x—l)l
e
Q(-x): X — | _ & .
P
J
L.Gie1)
- %
o (VY 2 Q) 2 s G
2
= Dsl] (0-N*
2
g Ol _ 0.0l
%
= 0.1l - 0.008
Com Pa\(& D-;H"» S qs

(- = L0 = 01, Quay=0.095
Exact volue : 0, ¢1.1) = O-095310!




